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01 AL 2 ZF S| 8,740 0 8,740
Oou=J #¢ 450,000 * 204 900
OYFAMIIER TR2HME 79
3,500,000 = 1CH 3,500
O RdMI)IE =25 2 4,340,000& 4,340
ZSAIEEEZ2S A8 22334 DBSH A 61,300 0 61,300
= 39,460
= 21,840
101 124 H| 61,300 0 61,300
= 39,460
= 21,840
04 JI2ZtHIZ22NEES 61,300 0 61,300
O=2gesa AMSE DBS AFY
30,650,000 * 29 61,300
= 39,460
= 21,840
Hsgs L A& 16,770,454 15,795,791 974,663
= 520,000
J| 2,424,324
& 1,274,569
= 12,551,561
H=gs N 4,875,292 4,610,134 265, 158
J| 224,324
o= 14,569
= 4,636,399
HM=8EA iz & K& 527,480 533,760 N6,280
201 et d| 9,000 9,000 0
01 AR 22l ] 4,000 4,000 0]
Ogttf2y| 4,000
—AZXOIAEY EEZ2 M
2,000,000& = 2= 4,000
03 A2 E H| 5,000 5,000 0
OAZ=DIAE & dX=zd KA X
5,000,000& 5,000
202 o4 | 6,480 5,760 720
01 2L HI 6,480 5,760 720
OMSEAN M=l K& 6,480,000 6,480
203 E R F=&d| 3,000 3,000 0
03 Al ZH =X AR = XH| 3,000 3,000 0
OZ=H=0Hg &K 150,000& =* 203l 3,000
307 212t0| & 509,000 509,000 0
04 SIZ2HSHAAISH E & 499,000 499,000 0
O3Y =0 H=sU3 &I 220,000,008 * 13 220,000
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- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
Oogst MEH =X A Hi X
2,274,000& * 6 » 12& 163,728
J| 81,864
= 81,864
Ot MEHY XA E=sH BEX
300,000& ~ 6 * 12& 21,600
H24A MEHSKESA X (BSKH) 219,816 219,816 0
J| 95,508
= 124,308
307 2Iz2t0| & 219,816 219,816 0
J| 95,508
= 124,308
02 DIZHEAAIE E X 219,816 219,816 0
ooza MeEd=sX =X Hi Xl
2,274,000& = 78 » 12& 191,016
J| 95,508
= 95,508
OE4 MENSAZA EsH X
28,800,000 28,800
ZOHCIME SRS A BRI (@ 24H]) 32,832 0 32,832
Jl 14,616
= 18,216
307 2I2t0| & 32,832 0 32,832
J| 14,616
= 18,216
02 DI AAIE E X 32,832 0 32,832
OHMAUAM=ES XX 28] X2
2,436,000 * 1€ » 12& 29,232
J| 14,616
= 14,616
OXHMAUM=ES XX E=H X2
300,000& ~ 1€ * 12& 3,600
SMsUs X 8,000 8,000 0
o= 4,000
= 4,000
307 212t0| ™ 8,000 8,000 0
= 4,000
= 4,000
02 DIZHE AAIE E X 8,000 8,000 0
OMeE=Ua X& 4,000,000 = 23| 8,000
& 4,000
= 4,000
S T2 X 9,792 9,792 0
& 1,762
= 8,030
307 2iz2to| & 9,792 9,792 0
& 1,762




SN 2HHSD
g Hsgs & Ad2a
o9 HSEs Xe (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 8,030
02 It M AMHEE 9,792 9,792 0
OdgxsZzNd 9,792,000 9,792
< 1,762
[ia 8,030
MEH WL 19,112 19,112 0
< 1,694
s 17,418
307 21201 A 19,112 19,112 0
< 1,694
[ia 17,418
02 QItFAAHE X 19,112 19,112 0
OdaNsns 29 14,112,000& 14,112
< 1,694
fia 12,418
OMEHESDY 222YSE 7
5,000,000& = 13l 5,000
ZOHQ MEM=E XN 20,318 18,318 2,000
= 2,956
s 17,362
307 glz2tol & 20,318 18,318 2,000
= 2,956
s 17,362
02 It M AHE L 8,318 8,318 0
OXoHel XM=ES0tel XI& (X X ZoHel)
7,318,000 7,318
< 2,956
s 4,362
OFe M=as XA 1,000, 000& 1,000
04 QIZFHALAIH B & 12,000 10,000 2,000
OHM23al Zads HoHe MBH=UI &It
12,000, 000& 12,000
22 MSHE |1 ¥ 3¢ X9 2,155,000 1,925,000 230,000
307 glz2+ol & 2,155,000 1,925,000 230,000
02 HAFHAANGEEE 1,880,000 1,550,000 330,000
O&dE MII RAE=E20 3
280,000, 000& 280,000
OR&J d=2 NS =203
200,000, 000& 200,000
O&=0IA=E=2H=2 Uz 290,000, 000& 290,000
OOIAIOIE AHEIA S H =3 XBSHLUHS
230,000,000 230,000
O&= Heol Had sl 200,000, 000& 200,000
OSHatHl M =Z ALK S 2 180,000, 000& 180,000
O&FEWC HX=+E X2 500,000,000& 500,000
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fAM: 2=
g Hsgs & Ad2a
S9l: HSES N (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 275,000 370,000 A 95,000
O==7 dX=d |FIIXA 95,000,000& 95,000
OHEZ dX=dlE SXXA 33,000,000& 33,000
O2k e2lOd & dX=zdE |XXE
19,000, 000& 19,000
Os&t A=zl |RIXA 10,000, 000& 10,000
O&F di=zdE RIXNA 13,000, 000& 13,000
OLHe M=Els |IXA 90,000, 000& 90,000
Oweld 371 23 X3 15,000, 000& 15,000
FEZ dEN=sUHS 55,000 55,000 0
307 21201 A 55,000 55,000 0
04 QIZFHALAIRH B = 55,000 55,000 0
Oz dEN=sUHS 55,000,000& * 13l 55,000
=0lo g JlE ZexNsial 197,000 0 197,000
307 gl2tol & 197,000 0 197,000
04 DIZHHALALSE E X 197,000 0 197,000
O=glo & J1E =ZedM=sus 197,000,000 197,000
M=selol g g At 50,000 0 50,000
307 izl & 50,000 0 50,000
02 It M AHEE 50,000 0 50,000
OM=s & A 50,000,000& 50,000
2 2224 OietEUE 120,000 120,000 0
307 21201 A 120,000 120,000 0
04 QIZFHALAIH B = 120,000 120,000 0
O&g 222 OietE 3l
120,000,000& * 13l 120,000
FEZ=0 =2 AU 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
OFEzZ=t &= XN&ENH Hal
50,000,000& = 13l 50,000
FEZH =2 BHEREWHS 14,000 14,000 0
307 glz2tol & 14,000 14,000 0
04 DI2HHALALSE E X 14,000 14,000 0
OFEZ=ti BHEQUE S
14,000,000& * 13l 14,000
FE2=t ERU3 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
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2N 23H

s
I NEEgs & Aldzd
o€ NEsgs XNH
= _ = s
A - ER(EN) - AR - B of & o4 e
o¥dz=tl 57Uz 15,000,000& * 1%l 15,000
gzt SHAATXS 14,000 14,000
307 glztol & 14,000 14,000
04 QIZtHAALE 2 = 14,000 14,000
OFgztl 8= HAALX[Y 3
14,000,000& * 12l 14,000
dd2tl 203 10,000 10,000
307 glztol & 10,000 10,000
04 QIZHHAALE 2 & 10,000 10,000
OFEzZ=tl "3 10,000,000& * 12l 10,000
gzl 8= 24 2= 30,000 30,000
307 212t0 & 30,000 30,000
04 QItHAALE 2 = 30,000 30,000
OFg=z=Jl d= dU3=Ua
30,000,000& * 13l 30,000
a2t §20U3 14,000 14,000
307 giztol & 14,000 14,000
04 QIZHHAALE 2 = 14,000 14,000
OFgd=z=tl S5, 44 g2 57U
14,000,000& * 1%l 14,000
dd2=t == 10,000 10,000
307 @lztol & 10,000 10,000
04 QIZHHALALH B £ 10,000 10,000
OFEzZtl ==0Ha 10,000,000& * 1%l 10,000
FE2t AU 14,000 14,000
307 glztol & 14,000 14,000
04 QIEHAALE 2 = 14,000 14,000
OFEZ =t A0S 14,000,0008 = 1= 14,000
oS ¥=532 HLUA e 10,000 10,000
307 212t0l & 10,000 10,000
04 QIESHAAIE B = 10,000 10,000
OZgsta3 el 33532 HUAWSE
10,000,000& = 13 10,000
FEZ=H Det2E2Z203 15,000 15,000
307 glztol & 15,000 15,000
04 QIZEHAALE 2 = 15,000 15,000
OFdz=tl Odct2===03al 15,000,000& 15,000
g2t MAEI =R 30,000 30,000
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fAM: 2=
g Hsgs & Ad2a
?4?: Msgs Nd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 30,000 30,000 0
04 DI2HHALALSE E X 30,000 30,000 0
OFEZ=ti NMAEIZHS 30,000, 000& 30,000
FEZEFEIFI =203 10,000 10,000 0
307 eIzl & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OFEZEIREIZI FF2U3
10,000,000& * 13l 10,000
JFEAE A2 2o 3 80,000 80,000 0
307 glz2tol & 80,000 80,000 0
04 DI2HHALAISE E X 80,000 80,000 0
Ot AtEr 22 2IIUs (140H8¢)
80,000,000& 80,000
=R M=0al o= 50,000 50,000 0
307 gl2tol & 50,000 50,000 0
04 DI2ZHHALALSE E X 50,000 50,000 0
OHILIAES &I tHal 4,000,000& 4,000
OAolE=EEaEI Hal 5,000,000& 5,000
O=ZE3l &t thal 7,000,000& 7,000
O=7&3al &bl thal 5,000,000& 5,000
O=E3al &t thal 4,000,000& 4,000
OzZ=ti 28Uz 7,000,000& 7,000
OdEN=s e 2=Ua 5,000,000& 5,000
OMex=s &al&Il sl 5,000,000& 5,000
OSHIHE 2¢ 8,000,000& 8,000
ATEAHOISAE X 46,494 37,859 8,635
J| 32,336
< 4,157
s 10,001
301 LEH = 46,494 37,859 8,635
J| 32,336
< 4,157
[ia 10,001
01 MI2ZHE +06l= 46,494 37,859 8,635
OA2Z=2H08A XA 42,994,000 42,994
J| 30,096
< 3,869
[ 9,029
O AZ=2R0IE2H XIS 3,500,000 3,500
J| 2,240
< 288
s 972
qE2d FRHY A 369,120 688, 149 A 319,029
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AN 23HSD
g Hsgs & Ad2a

S MFAIE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—olgH=ss2 S(HIg, 452 &)
5,000,000 5,000
—HEg3g2sy (™I, 4= )
1,200,000 1,200
~HNSBEH(HIIZ, Y458 S)
7,000,000& 7,000
- GMBER(HIIZ, 4452 S)
4,600,000 4,600
—UXERR(FIIR, HLER 5)
3,000,000& 3,000
—GUIURESTE, QUE2SH A
3,000,000& 3,000
202 O4dl 6,480 5,760 720
01 = LH 4 Hi 6,480 5,760 720
OMsA&gs2e 6,480,000 6,480
401 Al HIZ 201 8] 480,000 1,150,000 A 670,000
01 A& HI 480,000 1,150,000 A 670,000
O8dY 02 23J1+ &1 200,000,000 200,000
OFEIHHUAT E+3A 80,000,000& 80,000
om=za=2x% =4 200,000, 000& 200,000
405 TtHobF S| 55,000 38,086 16,914
01 AL EFH S 55,000 38,086 16,914
OZSHSAE AR Il ¢ 5,000,000& 5,000
OFGAZXII O2E &I #¢
40,000,000& 40,000
oFEgeld=2s®d I+ 10,000, 000& 10,000
2AE HMEANE FXNE= 70,000 70,000 0
401 Al HIZ 201 8] 70,000 70,000 0
01 A& HI 70,000 70,000 0
O8Y 243 ZZ2M=sANE=E FANE=*
5,000,000 * 1404 A& 70,000
FETZ EZ2HSAE 2l 3,103,430 2,846,000 257,430
403 XSS A=0l& 3,103,430 2,846,000 257,430
02 S 2S00 CHE A EE 2 AL H 3,103,430 2,846,000 257,430
OZ3SHEAE S/ =23 H|
3,1083,430,000& 3,103,430
gA=CHMSHEH HE 4,635,000 4,300,000 335,000
J| 1,000,000
< 300,000
s 3,335,000
401 Al HI K 201 Y] 4,635,000 4,300,000 335,000
J| 1,000,000
< 300,000
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2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 3,335,000
01 A& HI 4,635,000 4,285,000 350,000
OgX=2N=sdH AE 4,635,000,000& 4,635,000
J| 1,000,000
= 300,000
[ia 3,335,000
g BHidl MSsdEH 28 1,915,000 0 1,915,000
J| 1,000,000
< 900,000
s 15,000
401 AIEHI L 2 CHEI 1,915,000 0 1,915,000
J| 1,000,000
< 900,000
s 15,000
01 A& HI 1,900,000 0 1,900,000
OFgEetUHIM=EdHe HE 1,900,000, 000& 1,900,000
J| 1,000,000
< 900,000
03 AIE S THHI 15,000 0 15,000
OFgEettHIM=sdH HE 15,000, 000& 15,000
QAN EH HE 260,000 0 260,000
J| 200,000
< 60,000
401 AIEHI L 20 260,000 0 260,000
J| 200,000
< 60,000
01 A& HI 260,000 0 260,000
OZu=eN=ZstdEH 28 260,000,000 260,000
J| 200,000
< 60,000
EsHUBUNSAMEXNH 1,300,000 0 1,300,000
s 520,000
s 780,000
401 Al HI K 201 I 1,300,000 0 1,300,000
s 520,000
s 780,000
01 A& HI 1,300,000 0 1,300,000
OFEFAZ=MIAMNALIE dZE WX
300,000, 000& 300,000
s 120,000
s 180,000
OFGEAZXMMIANTE ZFAE &X
1,000,000, 000& 1,000,000
s 400,000
s 600,000
HE2LAZH (2 M=) 81,472 78,924 2,548
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2N
X ZH -
L= B

el

Z M = ot
HY2LZH (BH=ED)
IH2HHI (2o M=)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
lHEAHI(23MS ) 11,940 11,940 0
ol (23 M=) 11,940 11,940 0
204 MR F | 11,940 11,940 0
02 252 Xl 8,940 8,940 0
oxazz 8,940
—2348 0l& 155,000& = 2H » 12& 3,720
— 234 0|gt 145,000& = 39 = 128 5,220
03 EZ YA 3,000 3,000 0
ORI (e gsHl)
50,000& = 5% » 12& 3,000
Jledul(2stds) 69,532 66,984 2,548
Jl2dul (2t =) 69,532 66,984 2,548
201 £B-2dH| 37,072 32,184 4,888
01 At 22l 37,072 32,184 4,888
Oget==EH| 11,200, 000& 11,200
Oz &l 7,0008 * 28" » 11 » 123 25,872
202 04 tl 25,800 28,200 A 2,400
01 = LH YI 25,800 28,200 A 2,400
OJI2gesd 50,000& = 28H = 123 16,800
ORI E 150,000& * 5% » 12& 9,000
203 YR =2t 5,460 5,400 60
04 NI FAH 5,460 5,400 60
ORN2EYE=AHI 455,000& = 12& 5,460
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OGS AH| 100,000& * 12& 1,200
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